General
information

00
08

System description

HARTING

Type B, Q C, R
Wiring side Input access from Input access from Input access
(Rear side) the front side via a the wiring side via a via a female connector

female connector

female connector

1) 1)

Pin shroud
2x0902 000 9309
1x0302 0005903
1x03 020009302
0802 0640501 ?
0902 06¢ 0502 ‘i
[ & F-
A -
A 0] L
Soldering technique for a flexible wiring ! i i |
i
I | i —
% & | | = &
| | [
Soldering technique for pcb i i i :
Press-in technique for pcb — i — | ! — —
s e #84| | | || s g4
Crimp connections E i E ;
%8| | e % 8
| | [
Wrapped connections 0.6 x 0.6 mm i U element 0.6 x,O 6 mm ! : 0.6 x 0.6 mm
posts 0.6 x 0.6 mm —— S | _——
! I 2) 0302 064 2981 E )
1 X 1 mm g \Z 09 02 000 9923 — ‘ @ ﬂ b& g
Middle N
.
section Q§§ [ | — P_ o J—0
Q—\'
N
gﬂ L% :E)R - L%‘
L) R — L == & RID git =
« __ _ mp
W Ek _ S— ‘{ﬁg\_ —m i
Front side |
|
I

b=

09 02 £54 0501
08 02 064 0502

1x03 02 000 9902
1x 08 02 000 9903
2x03 02000 8303

09 03096 0501 <
1x08 02 000 9302

1x09 02 000 3903

2x09 02 000 9303

1) Screw fixing (cheesehead screw M 2.5 x 16 + nut)

2) Screw fixing (cylindric screw M 2.5 x 22)

3) 2 x screw fixing

09 02 000 9909

09 02 000 9923

(cylindric screw M 2.5 x 25 DIN EN ISO 1207 + nut M 2.5 DIN EN ISO 4032)

4) Fixing brackets for latching and screw fixing

5) Screw length depends on the pcb thickness

female connector
male connector
right hand

left hand

03 =



http://www.harkis.harting.com/cgi-win/sbhtml.dll?crq_qs?&search=09020009909&language=e
http://www.harkis.harting.com/cgi-win/sbhtml.dll?crq_qs?&search=09020009923&language=e

System description

HARTING

harhus’ 64

D

Input access from
the front side via a
female connector

1x08 020009903 ——

1x08 02 000 9502 N\
D/i 09 05 048 0507
i 02050000001 f

2x0244 0000003 —

2x09030009913

N ===t )

~|

Input access from
the front side via a
female connector

Piggyback connector

1x089 02 000 9302

1x09 02000 9903 - \

Input access via a
female connector

Piggyback connector
G

1x09 02 000 9903
1x09 02 000 9902

09 03 096 0501
09 05048 0501

0904 032 3215
0305 048 3204

0904 016 3201~_§ I
03040323215
09 05 048 3204~ F ]

G

1x09 02 000 9903

|
|
| -—— 2x0902 0009309
|
| 1x09 02 0009302

03050480501

¥

| element

@ 0905028632, M @

| ]
08050.86324 m

1x1mm
E—
o T T
|
|

2x0302 0009303

B 6\ 1x09.02 0009902
i 10902 000 9303
I

o R S| Y oo R —_— L o~ //)
‘ \ '?‘ 74 S -
| | | |
I M | | v | G
) ] I I
I : I !
Lo R i |
| | |
I E
0303 096 0501
1x09 02 000 9902 -— | 1x08 02 000 9902 !
- 1x09.02 0009903 | 1x0902 0009903 |
— - 2x09 02 000 9908 —-— | 2x09 02 0009909 — |
| I
| I
N o
~ -
Y = Combi- Fixing bracket ¢ | element | U element
nations for male connectors
Multiple Single
fixing fixing
B & woe | @ | &
09 02 000 9919 09020009921
09 02 000 3920 09020009322
Housing C | latchable latch and screw latch and screw
fixing (M 2.5 x 16) fixing
Housing G screw fixing screw fixing

General
information

00
09



System description o

Type F

Wiring side Input access via a female connector Output from the front side via a male connector
(Rear side)

General
information

Piggyback con- Piggyback con-

nector nector
10302 000 9903 — 10902 0009903

1x09 02 000 9802 1=09 02 000 3302

03 03 096 0501
0305048 0501

0804 032 3215
0905 048 3204

09 03096 0501
09 05048 0501

|

|

|

|

|

|

'

| JEEEESL |0 [
v 09050483200 PR 1 R e o |

8) 8)
‘EE\ 2x03 060009333 /Fi

Soldering technique for a flexible wiring | * | E % 5 é

T
il
il
I
g
H
. . ! 1l
Soldering technique for pcb | : Eh’: @ lelement __ T K
. . i @ O 09060322905 M %“ ﬁ ¥ ﬁ
Press-in technique for pcb ! — ; 4, 090608 2605 [ j h “T,LMS omogm/fgﬂ
T
. . ] i
e comestons ] 8| “Tomno| momal i- A
(]
‘ B e R B T A
! } - B : H q;LGoausooo %33
. Il - T
. ' o ! ! o I -
Wrapped connections : | lelement ! :
posts 1 x 1 mm = ; } B B)l
N | 09060322903 ™ | R
bl ﬁ" 03060482903 [ ':” R 8)":‘3\2!09 05000 ggn/i?

. $ 3 I B 9
Middle oS " N I e R w—"
Sectlon ,QC))SD o } 0906 048 ZSDGM

A e 2x09 06 0009930 |
Q ; 03 06 000 9968 | 2x09 06000 9930
S i & | mp
> 09 06048 0401 DAL
B\ 09060480402
K : 09060480501 i 0505 0480503
2 2 05 08 0¢2 0205
$) } B
&
:

9) 9

2x0906000 9930

2x09060009930
05060009968

09 06 048 0515

3)

T~ lo— =
Front side E{ TE :ﬂﬁ A :

0906048 2906 m

09 06 048 0401
09 06 048 0402
03 06 048 0501

3=

=

EG] EJ L 2x09060009812
R L 9 06 0¢8 0503
g hf SgRbac:
G ot B AT
o R L
v || —Ib—
]
6) 9). I
)
]
I
i
I
I
|
I
|
N

0906 048 0503
09 060480504
09 06 048 0505

o

—— B - -
7

G

09 06 048 0503
09 06 048 0504
09 06 048 0505

0306048 0515

D15

G




System description

HARTING

F

H

MH 24 +7

Input acess from
the wiring side via a
female connector

G

09060490503
09060480504
09 06 0480505

08 06 048 0401

/
s

’
(/
|
|
|
|
|
|
I
|
|
I
|
B\
|
i
|
u\ 09 06 048 0402
i
|
|
|
H\

0906 048 0501

09 06 000 9968
2x09 06 000 3930
I T %

Input access from
the front side via a
female connector

Input access from
the front side via a
female connector

| element

=Im §

! I
| |
|
| 09 06 032 2905 m !
@ 0306 028 29 zso % o™ }
T
.
|
|

mmTl8

U element

|
|
|
|
T
|
|
|
|
|
T
1
\
|
@ 09 05 048 2981 m

{los, f

P

i h

la
Combinations Fixing bracket a Fixing bracket b
for male connectors for male connectors
Multiple Single Multiple Single
fixing fixing fixing fixing
[ £ Lﬂfﬂ_"j[‘ﬁ[?j T G
09 06 000 9901 09 06 000 3905 03 06 000 9907 09 06 000 9903
09 06 000 29027 09 06 000 9506 09 06 000 9908 09 06 000 8910

I latch (M 2.5 x 12
Housing A and s(crew fixinq) latchable

: latch (M 2.5 x 20
Housing B and s(crew fixinq)

: latch (M 2.5 x 20
Housing D15 and s(crew fixinq)
Housing D20 screw fixing
Housing G screw fixing

latch (M 2.5 x 20,

Comk()...gQSO) an ds(grgw f|X|ng)
(...9968) screw fixing

latch (M 2.5 x 20

Comé...LQQSO) and s(crew fixinq)

(...9968) screw fixing
Ib
Combinations Fixing bracket b | element | U element

for female connectors
Multiple fixing o
r09 06 000 9933“)
09 06 000 9933

) M 2.5%22) latch and (M 2.5x16)
Housing A ( )screw fixinq( )

. M2.5x26) latch and (M 2.5x20
Housing B latchable ( )screw fixina( )
Housing D15 latchable latchable
Housing G screw fixing

(...9930) latchable
Comb. O

(...9968) (M 2.5x26) screw fixing (M 2.5x20)
Comb. M latchable

Housing B/D 15 Ila Ilb
0906048 0503 | 2x |09 06 000 9913 | and/or 2x | 09 06 000 9926
T e a7 09060480504 | 1x{| 3338 390 8313 | andior 2x | 09 06 000 9926
(-] -] (-] -
T
R —— :%L ji 0906 048 0505 | 1x{| 33 3 399 3313 | and/or 2x | 09 06 000 9926
-:1\ i 09060480515 - - and 2x | 09 06 000 9926
2x [09060009930| and2x |09 06 000 9926
ﬂ g\z—os 06 000 9930 ﬂ L Los 06 0009930 ] Cen O 2x_| 09 06 000 9968 - -
r 5' 09 06 000 9958 3)< ‘, 6) 08 06 0009968 : Comb M 2)( 09 06 000 9930 _ —

09 06048 0503
0906048 0504
09 06 048 0505

G

08 06 048 0503
09 06 048 0504
09 06 0480505 B
\ T i
2 Tb !
‘ ‘

G

1) Fixing brackets for latch and screw fixing

2) Screw M 2.5 x 22 belongs to supply of | elements, nut
M 2.5 DIN EN ISO 4 036 does not belong to scope of
supply

3) Screw fixing (cheesehead screw
M 2.5 x 20 + nut) 09 06 000 9926

4) Screw fixing (cheesehead screw
M 2.5 x 16 + nut) 09 02 000 9909

5) Cheesehead screw (M 2.5 x 26) 09 06 000 9955, nut
M 2.5 DIN EN ISO 4036 does not belong to scope of
supply

6) Screw M 2.5 x 20 belongs to the junction element,
hexagonal nut M 2.5 DIN EN ISO 4036 does not belong
to scope of supply

Following items don’t belong to scope of supply
7) Screw M 2.5 x 12 and nut M 2.5 DIN EN ISO 4036

Screw M2.5x 8

8)
9) Screw M 2.5 x 8 and nut M 2.5 DIN EN 4032
10) Screw M 2.5 x 25 and nut M 2.5 DIN EN 4032
f. = female connector
m = male connector
R = right hand
L = lefthand

General
information

00
11





